MR2 Fuel Pump Relay / Resistor Pack
Bracket Installation

Install Time: 15 - 30 minutes

In the Box:
* (1) Racer X fuel pump relay bracket

* (2) 1/8” nylon washers

* (2) M5 Stainless steel socket cap screws
* (1) M6 clinching stud

* (1) M6 flange nut

* (2) M6 hex head bolts

Tools:

M4 allen key

10mm socket

Socket driver

Extension

e o o o

Instructions:

1. Start by installing the resistor pack onto the bracket. Place the nylon spacers between the bracket and resistor
pack. Tighten M5 Allen head screws. (Fig 1)

2. Insert the M6 clinching stud through the back of the bracket and place the fuel pump relay on the stud. Tighten
the M6 flange nut onto the stud. (Fig 2)

3. The bracket has a cutout that keys into the side of the fuse box. The mounting holes are roughly 1.5” above
and 4” below. Tighten the bracket to the truck wall using M6 bolts. (Fig 3)

4. Plug electrical clips back into the fuel pump relay and resistor back. Installation complete (Fig 4)

Questions, comments, or concerns? Email tech@racerxfabrication.com.

© 2021 Racer X Fabrication



Racarads

Fabrication

© 2021 Racer X Fabrication



